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alpha13_4eX1X:cyclenum {run == 8306}
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alpha46_4eY4aY:cyclenum {run == 8306}
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delta13_12X4eX:cyclenum {run == 8306}
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delta46_12X4eY:cyclenum {run == 8306}
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76−

75.5−

75−

74.5−

74−
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usl_1X:cyclenum {run == 8306}
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usl_4aY:cyclenum {run == 8306}
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usl_4eX:cyclenum {run == 8306}
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cyclenum

19.5
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l_
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Y

usl_4eY:cyclenum {run == 8306}
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cyclenum

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

38−
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37.6−
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usl_12X:cyclenum {run == 8306}
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cyclenum
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usr_1X:cyclenum {run == 8306}
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cyclenum
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10−

us
r_
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usr_4aY:cyclenum {run == 8306}
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cyclenum
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usr_4eX:cyclenum {run == 8306}
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cyclenum
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usr_4eY:cyclenum {run == 8306}
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38−
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usr_12X:cyclenum {run == 8306}
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usl_coil1:cyclenum {run == 8306}
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usl_coil3:cyclenum {run == 8306}

11119 11119.5 11120 11120.5 11121
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usl_coil4:cyclenum {run == 8306}
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usl_coil6:cyclenum {run == 8306}
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usl_coil7:cyclenum {run == 8306}
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usr_coil1:cyclenum {run == 8306}
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usr_coil3:cyclenum {run == 8306}
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usr_coil4:cyclenum {run == 8306}
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usr_coil6:cyclenum {run == 8306}
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1X_coil1:cyclenum {run == 8306}
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cyclenum
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1X_coil7:cyclenum {run == 8306}
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4aY_coil6:cyclenum {run == 8306}

11119 11119.5 11120 11120.5 11121
cyclenum

36.4−

36.2−
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4aY_coil7:cyclenum {run == 8306}
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